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Homework 3: Manufacture and finishing Answers
1.	Which one of the following statements about mechanical lubricant is false?	[1]
⬨	Lubricant reduces friction 
⬧	Lubricant increases the material hardness
⬨	Lubricant reduces wear and tear of moving parts
⬨	Grease and oil are lubricants
[bookmark: _Hlk488676074]2.	Explain two disadvantages of Computer Integrated Manufacture (CIM).	[4]
It has reduced the employment rates / need for many skilled technicians; therefore unemployment might have risen in those areas where factories have changed.
It is very expensive to set up due to the high cost of machines; therefore costs have to be recovered / increased production costs.
Many employees have to learn how to use the new technologically advanced systems; sometimes people don’t like change.
[bookmark: _Hlk488676090][bookmark: _GoBack]3. 	Explain two modern developments and manufacturing techniques that have led to the miniaturisation of electronic products.	[4]
Batteries have improved as they have become smaller and longer lasting; therefore products are lasting longer / can be used for longer without having to recharge too often.
Motors are more powerful; which means products like electric drills / vacuum cleaners have more power / can do jobs that used to require appliances being plugged into the mains.
New and advanced materials are lighter and stronger; meaning that products last longer / are more robust and can stand up to knocks and bumps.
Some people now have more disposable income; therefore, they have money to spend on gadgets and technology. Many consumer based products have the capability to connect to the internet (IoT), as people become more comfortable with technology the demand for these type of product is increasing.
4. 	Give three environmental benefits behind the development of battery 
powered vehicles.	[3]
Less pollution created; less demand on natural resources such as oil meaning they 
will last that bit longer; less noise pollution close to roads and motorways; electricity can be created from renewable sources. EV cars are ready to go at anytime and require no ‘warming up period’. Fossil fuel powered cars don’t reach maximum environmental efficiency until they are warm.	
5.	Explain one reason for applying a laquer or conformal coating to a PCB.	 [2]
It protects the components; from dust / moisture / chemicals. Protects the copper 
from oxidising. Increases the PCB’s lifespan.
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